7 U —7 L —2A « AS345 X~ FR )L i T.[¥

7 ) —7 L —A %R S=1/10

A-AWrE S=1/10

B TE AT BEMIX s=1/10

Ty —=TL—A AN '/
V,
/
~)U ¥y FT 544 A ez 7 U —k
(Pt b > & 1DZT 77) '/
ASAyFa<xiy b /
(ARl gR D - & 1DZT 49) // 5 A4
/
Rtk &£ ¢ T5LL b

B RN ¢ 9084

(FM300 % A =)
o) e
(HER D - X 880
(@)
(@)
o D13 ok
[}
N
Y. R 300
JEBAX S=1/100
300 1700 300 1700 300 1700 300
T — T =T L—Ah
D19 1=800 i i FM300
o { 1 O | SO | 974
e e o e
) 1
S I A | S
(=) 1 ' ' o~
B ! | -
:_.:,__.__.-_.._.:;_._!. == i — S
J— i ——— S e— a5}
S | | | S
= | | o~
S | ! ! \ S
_ 1l | . [ -
-—-—>-—> —— _;_1|3I O ——— =
BRAHEA L “| i ii N! D13
HwWih 7 v —
D13 L=500 AR RS
2000 ‘ 2000 ‘ 2000
BRI TE 50X s=1/5

ASA v ¥ =a<7F v  D25N
(VST g o> > = HDZT 49)

-% ®
] %
60 28.5

A XA e
(WS agn e > X HDZT 77)

50

~LFx v TF O (ORR)
(S agn e > X HDZT 77)

K-1 A ~2—H— D25-65 (B A v F)

&)

~LF vy FFE (B
(g > X HDZT 77)

A A A IES

(S Hign > > X HDZT 77)

BEF

AS345 A F7R)L I~ D25N
(WmE g > X HDZT 77)

]

150

\"

§§§
&

S

Z

» 85

150

bl

¢ 85

\ |

74.3

¢ 83

SET
CL ] [ HfL | Hkt i =

FY—T Lk F300(2,000%2,000) [ m 7 U \__.7 ]/\__.A
AS345 A3 7R L k D25N m RSN D - X HDZT 77 % %}j; .
T AS345 X > &RV b D25N
ASAyFavf v b D25N 18l 1 BRSO - & HDZT 49
e [ KELE | Tob |Tovy—|hvTT—| Fxv7/
A AL EAr 150%150%9 (¢ 75) | #& 1 jlitign - & HDZT 77 N o
Ay TR il 1| Wl - & Iz 77 y) 2 ?:/( 7{‘7%37*7 [\ aw AN N /l/%\*'Y‘/7 F
Big i kg | 0.13 l“ﬁ 1L[. *ﬂiﬁ/_.\$:l:

H MRS




